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(x̃, ỹ) = H̃n (x, y) ,
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(U,V,u, v, P, p,H ) = (U0, 0, u0, 0, P0, p0, 1)
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Ω�����iFrLr¥òåæ8ik0qwX;5rŖfF;6<=�����iFr (S)S>=�òåæ8ik5��EÆ=F�̀?2@X>Ω = 00A�BXSC2@X>�0Dü�SÄX>E0Dü��̧_E2=FA�BXOD�0FGz6q3cd6�YZ:g=B:�HI_E2=F·–2(a)6xuy>¡¢_g27890̈©JK5Ñú_E2=F¤(L5L2E6�}��(L�Ø2EX?YZ̈©�ª�E2=>SMN0t���yOP(L�Ø2̀̈©JK:��_ESQ�����i5Rg=SÀ6
D4=>S����i0��2FGLr¥TU8i5e_EVb5WP_E2=F·–2(b)6xuy>vÅ:�ÊËLr¥��
>0.3Suv[�����γLr¥φSR0-6onXYZ[>

20cmÊË0m0:�5Ñúf=���uv[0��2|}0JKzÆ=FJK�
=:S����i5rD\�YZFG6¡¢f=B:>]O=F�̀TU8i6(a)

0.01

Fr

0.08

0.04

0.12

-1 -10

0

4

3

2

1

1001010.1

k
(a)

100

0.50.05
0 -5 -10

0

4

3

2

1

0.01 0.1 1 10

5

Fr

k
(b)ê- 2 ð̂_̀aFrbcdefghakicjklmΩgnopêñ(a)qhr(h=0)s(b)h = 1, λ = 0.3, γ = 0.02,
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